Exercise 2.5
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Q.2  Write the conjugate of
following numbers.

(i) 2+3i
=2-3i
(ii) 3-5i
=3+ 5i
(i) i
=i
(iv) 3+4
=-3-4i
v) —4—1i
=—4+i
(vi) -3
=—i-3

the

Q.3 Write the real and imaginary

part of the following numbers.

(i) 1+17
Real =1
Imaginary = 1
(i) —1+2i
Real = -1

Imaginary =2



amy -3 +2
Real =2
Imaginary = - 3
(iv) —2-2i
Real = -2
Imaginary = - 2
v) —3i
Real =0
Imaginary = - 3
(vi) 2+0i
Real =2
Imaginary = 0

Q.4 Find the value of x and y if
x+iy+1=4-3i
Solution: Given that
x+iy+1=4-3i
x+iy=4-3i—-1
X+iy=3-3i
x=3 y=-3
x=3,y=-3 Ans



